0.45 GeV)

RS(kT) / RS,param(kT

R, (k{/0.45 GeV)Y [fm]
w

Ro (k7/0.45 GeV)" [fm]

»

(6,

—_

o

[e2]

(&)

—
~

1.2 |

o
®

0.6 f

o o
o NOb

N

N

w e

N

<1

CMS Pbe pr pp

—+ PbPb, VS = 2.76 TeV 3
[ o pPb, VS = 5.02 TeV ]
x?/ndf = 14308/464

L —=— pp,vs=7TeV

[ PbPb: [1.29° + (0.26 N%8)2"2 |
F pPb: [1.292 + (0.41 NJ#9)2)12

pp : [1.29% + (0.75 N?,fs) 12 1

0 50 100 150 200 250 300
Ntrk

CMS Pbe pr pp Ml <1

L A A A

Pbe @N 2 76 TeV E

[ —— pPb, VS = 5.02 TeV 1

I pp,vs=7TeV  z%/ndf=20011/464]

*» ¢ 1
i Pbe [002 +(0.22 N8 ]

t )7]

5 pPb: [0.022 + (0.50 N°39) 172 4
¥ pp : [0.022 +(0 88 N?rk“’) ]”2 ]
ol b by | L

0 50 100 150 200 250 300
Ntrk

CMS PbPb, pPb, pp

| <1

F —— PbPb, Vs =2.76 TeV
-—— pPb, Vs = 5.02 TeV
[ —=— pp,Vs=7TeV

0 01 02 03 04 05 06 07
kr [GeV]

1319 3

0.45 GeV)

RL(kT) / RL,param(kT

0.45 GeV)

RO(kT) / RO,param kT

0.45 GeV)

Rs(kr) / Rs param(kT

1

-
N

—_
N

-
N

0.

o o

» o

4

—_

—_

o
o

-
~

—_
\S]

o o o o

o

A~ O o0 =

N

CMS PbPb, pPb, pp

A
-

—— PbPb, Vs =2.76 TeV
Pb, Vs = 5.02 TeV

—=— pp,Vs=7TeV

0 01 02 03 04 05 06 07
kr [GeV]

1 /kO 47

+‘

CMS Pbe pr ;_)p - ‘ ‘|1‘1|‘§‘1

—— PbPb, Vsyy =2.76 TeV
—— pPb, Vs =5.02 TeV
— PP, \/— 7 TeV

0.1

1/k3°

[
L9,

il
02 08 04 05 06 07
kr [GeV]

o

CMS PbPb, pPb, pp

| <1

r —— PbPb, Vs =2.76 TeV
F—— pPb, Vs = 5.02 TeV
F—=— pp,Vs=7TeV

0 01 02 03 04 05 06 07
kr [GeV]

1,319 3




